2,100ha
R2 R3 R4 R
16 16 16
6 6 g9 71
115,514 118, 760 12
ha 1,671 |1,58]3 1
15 15 18
(ha) 106 113 12
( ) 12,0964 [13, 728 1
10 10 9
(ha) 0 88 306 30
( ) 12,0671 |13, 456 1
10 12 9
(ha) 170 77 75
( ) 10,201 | 4,591 4
0 0 0
(ha) 0 0 0
( ) 0 0 0




1 1 1 1
ha) 2 2 2
) 111 111 111
0 Y 0 0
ha) 0 0 0
) 0 0 0
0 h 0 0
ha) 0 0 0
) 0 0 0
0 h 0 0
ha) 0 0 0
) 0 0 0
52 56 55
P M ha) 1, 003 1,085 1,
) 79,0475 |86, 7182 86,
1 1 1 1
ha) 1 1 1
) g2 92 92
0 0 0 0
ha) 0 0 0
) 0 0 0
R2 R3 R4 R 5
14 14 13
3 8 3 2
3 8 3 2
25 22 20
ICT 0 1 0 0
4 7 7 5
6 7 7 7
0 2 4 3
7 16 2 7
3 2 1

18

23

29



37

21

10

10

10

10

000




459ha 905. 4 cCOD2
2,414 CO-
h a
CO2 hal R5 CO./
20 1./04 137 142. ¢
8 2.14 4 6 98. 44
10 2,042 273 660. €
2 1.22 2 2. 44
1.33 1. 33
4 1 - 459 905. 35
I PM
1, 264ha 154hce
| PM

PR




P M

P M







